© .8 &
ﬂjii @'8‘}9 @4 Multiplicér decimaler med ti

Navn:__ Dato:_ Score:__
2,264 x 10 = 7,973 x 1000 =
7, 686 x 1000000 = 7,749 x 100 =
5,522 % 100000 = 4,548 x 10 =
8,972 x 1000 = 2,832 x 1000000 =
2,71 x 100000 = 10, 855 x 1000000 =
10, 895 x 1000000 = 9,595 x 10 =
1,179 x 100000 = 6,574 x 10000 =
6,64 x 100 = 6,876 x 10 =
7,211 x 1000000 = 3,026 x 10000 =
3, 166 x 1000000 = 2,356 x 1000 =
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Navn: Dato: ___ Score:___
2,264 x 10 = 22.64 7,973 x 1000 = 7973
7,686 x 1000000 = 7686000 7,749 x 100 = 774.9
5,522 x 100000 = 552200 4,548 x 10 =45.48
8,972 x 1000 = 8972 2,832 x 1000000 = 2832000
2,771 x 100000 = 271000 10, 855 x 1000000 = 10855000
10, 895 x 1000000 = 10895000 9,595 x 10 = 95.95
1, 179 x 100000 = 117900 6, 574 x 10000 = 65740
6, 64 x 100 = 664 6,876 x 10 = 68.76
7,211 x 1000000 = 7211000 3,026 x 10000 = 30260
3, 166 x 1000000 = 3166000 2,356 x 1000 = 2356
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